A £ 0l & AF & S

Al A

0243 20l&t =EIHLSESA HF
M 23
Ha: aE e
T HIEQAMZAIY X (ST IHESH3IH) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
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= 38,779,000
Jl 7,473,842
= 4,271,800
Ea 24,250,549
FEIj& 2 5,617,100 16,930,744 11,313,644
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= 2,778,230
HIEQSNZAE = (+=EIHLSE3BIH) 644,100 2,573,744 21,929,644
Il 450,870
= 193,230
HEQSEMZAIY SX2el(E2X) 644,100 640,000 4,100
Il 450,870
o 193,230
101 @12A4H| 72,610 68,880 3,730
Jl 50,827
s 21,783
04 JIZtN2Z2XNSE+ 72,610 68,880 3,730
oHIEQEMTAIE FX2Ac| 2b| 72,610
Jl 50,827
[Ea 21,783
201 er23| 23,090 22,720 370
Jl 16,163
= 6,927
01 At2teltl 6,290 8,320 /2,030
o8 BLIHE ZA =8 1,920
) 1,344
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oRrXAAE2E 7Y 4,370
Jl 3,059
[Ea 1,311
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o&32s & HAl 16,800
Jl 11,760
o 5,040
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Il 1,680
e 720
01 =LHOHI 2,400 2,400 0
oHIEENZTAIE SR 0] 2,400
7l 1,680
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401 AIZHIZ SO 546,000 546,000 0
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s 163,800
01 Al&H| 546,000 546,000 0
CHIEQENTALE =4 & 2+ 546,000
Jl 382,200
o 163,800
St =EINE (= EIHLSESH) 10,000 10,000 0
Il 10,000
g 2Rs 28 ¢ Mg NF(EX) 10,000 10,000 0
Jl 10,000
401 Al HIZL R 0HbI 10,000 10,000 0
7l 10,000
01 AlZH| 10,000 10,000 0
od FR= 2 & XMlHlE 10,000
) 10,000
ZEE MG (FEINLESESIA) 4,963,000 6,277,000 A1,314,000
Jl 2,378,000
Ea 2,585,000
Y S8 MEUH ZgA(EX) 1,000,000 3,160,000 /2,160,000
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01 A28l 1,000,000 2,177,608 1,177,608
cEIY =EF MEUH gAY 1,000,000
SE0/ME Higdl &X(ExX) 1,650,000 800,000 850,000
7l 990,000
Ea 660,000
401 AlEHIZL SO 1,500,000 800,000 700,000
Jl 900,000
= 600,000
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[Ea 247,416
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Jl 101,510
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i 1,020
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= 3,570
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2 2,720
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= 1,586
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- 8= 175,000 x1F + 122 2,100
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